StarTechy.om

Hard-to-find made easy®

Single-Monitor Mount

- Articulating Arm
ARMPIVOTB

*actual product may vary from photos

FR: Guide de I'utilisateur - fr.startech.com
DE: Bedienungsanleitung - de.startech.com
ES: Guia del usuario - es.startech.com

NL: Gebruiksaanwijzing - nl.startech.com
PT: Guia do usuério - pt.startech.com

IT: Guida per I'uso - it.startech.com

For the latest information, technical specifications, and support for

this product, please visit www.StarTech.com/ARMPIVOTB.

Manual Revision: 12/04/2018


http://www.startech.com/ARMPIVOTB

Use of Trademarks, Registered Trademarks, and other Protected Names and Symbols

PHILLIPS® is a registered trademark of Phillips Screw Company in the United States or other
countries.

This manual may make reference to trademarks, registered trademarks, and other
protected names and/or symbols of third-party companies not related in any way to
StarTech.com. Where they occur these references are for illustrative purposes only and do not
represent an endorsement of a product or service by StarTech.com, or an endorsement of the
product(s) to which this manual applies by the third-party company in question. Regardless
of any direct acknowledgement elsewhere in the body of this document, StarTech.com hereby
acknowledges that all trademarks, registered trademarks, service marks, and other protected
names and/or symbols contained in this manual and related documents are the property of
their respective holders.

StarTechy.0m

Hard-to-find made easy

Instruction manual



Warning statements

BBl CANGOEH I TET> TS L. RURLE S B AI. BEEASEN

personal njury or property damage. MR SRE T SN AIET.
the product Ifyou

This WM BE= - OER, FUHTESSNIBARMER B LT LTFEL, BATR

product can support the following weight: 17.6 Ib. (8 kg). BEREA /LI BA BEEESBASE = 4 PRLRICEEH R SBUET.
o FUR(E E= S~ BBLUBGETERTEET,
FMBTERALT MARLTUEYRBLTUO BRETIRAT BOIMERICLE
. »T

Varningsmeddelanden
person eler gendom uppsta
Kada pa stod »

Avertissements
visquez de vous blesser ou dendommager lécuipement
q moniteur «
3 ble Ce produit
peut supporter 8 kg.
Warnhinweise
Personen oder Schaden an Eigentum fuhen.
ge Traglastdes Wenn die Traglast

kann di fahren. Dieses
Produkt it fr folgendes Gewicht geeignet: 8 kg

Dichiarazioni di avvertenza

Assemblare il .
janni a persone o proprieta.

monitor Incaso di

prodotto & in grado di supportare | sequenti pest: 8 kg.

Mensagens de aviso

Certifiq
em ferimentos pessoais o danos de propriedade.

Certifiq ' exceder

) P
Suportar o sequinte peso: 8 kg,

Advertencias de uso

lesiones personales o danos de propieda.

capicidad para el siguiente peso: 8 kg

Waarschuwingen

lgen: rt gezet
lichamelik etsel of materiéle schade ontstaan.

ga

bit

ondersteunt het volgende gewicht: 8 kg.

StarTechg-0m

i Hard-to-find made easy

Instruction manual



Table of Contents

Warnings i
Introduction 1
Product diagram 1
Product dimensions 2
Technical specifications 3
Package contents 4
Requirements 6
Assembly 7
Attach the ARMPIVOTB to your mounting surface 7
Attach the monitor arm 1
Attach a monitor to the monitor arm 12
Adjust the tilt angle of your monitor 16
Organize your cables 17
Technical support 18
Warranty information 18
~
Instruction manual StarTeCh.'Om

ii Hard-to-find made easy



Introduction

You can use the ARMPIVOTB to position a single monitor in a way that works best in
your setup and allows for comfortable viewing. The monitor arm extends and can
support monitors between 13 and 27 inches in size. This monitor arm includes desk
and grommet mounting options, and features a straightforward assembly process.
ARMPIVOTB can support monitors up to 8 kg (17.6 Ib.) in weight.

Product diagram

VESA monitor mount

Monitor arm

Pole ——

e—Cable-management clips

o——— Desk clamp

StarTechy.0m

Instruction manual
Hard-to-find made easy



Product dimensions

35mm 174mm 3§mm121mm 65mm‘

EEE
R§§ .45
£ 100 mm
£ 116 mm
s 116 mm
n
¥ ([
- —
360°

£

£

-]

-]

x

<

£
-0 L =

]
e -l
£ £
g e |7
-

£ Lole il

StarTechy

Instruction manual
2 Hard-to-find made easy



Technical specifications

Type of measurement

Rotate

I

J

Swivel
)

3

——

Instruction manual

——

Measurement

75x75
100x100

+450 t0 -45°

Maximum 685.8 mm
(27in.)

360°

180°

StarTechy.0m

3 Hard-to-find made easy



Package contents

Desk-clamp screw

Grommet baseplate Grommet plate
Qty: One Qty: One

StarTechy.0m

4 Hard-to-find made easy

Instruction manual



IE

Rubber pads
Qty: Five

Cable-management clip

5 mm hex key 6 mm hex key

M4x12 mm screws M5x12 mm screws
Qty: Four Qty: Four

StarTechy.0m

5 Hard-to-find made easy

Instruction manual



Single-Monitor Arm - One-Touch
Helght Adjustment - Basic

@ H @ StarTechy-om

Washers Instruction manual
Qty: Four Qty: One
Requirements

- A monitor or display that’s compatible with a VESA mount

« APhillips screwdriver

Requirements are subject to change. For the latest requirements, please visit
www.StarTech.com/ARMPIVOTB.

StarTechy.0m

Instruction manual
6 Hard-to-find made easy


http://www.startech.com/ARMPIVOTB

Assembly
Attach the ARMPIVOTB to your mounting surface

You can use either the desk clamp or grommet mount to attach the ARMPIVOTB to
your mounting surface.

Use the desk clamp to attach the ARMPIVOTB

Warning! Make sure that the weight of the monitor doesn’t exceed the weight capacity
of this product. If you exceed the weight capacity, you might experience personal
injury or damage to the product. This product can support the following weight: Up to
8kg (17.6 Ib.).

1. Remove the backing from the five rubber pads (7) and affix them to the underside
of the desk clamp (3). (figure 1)

figure 1

2. Position the pole (2) over the hole in the top of the desk clamp so that the
projection on the desk clamp fits into one of the two holes on the pole. (figure 2)

figure 2

Pole

Desk clamp Projection

StarTechy.0m

7 Hard-to-find made easy

Instruction manual



3. Insert the desk-clamp screw (4) through the desk clamp and into the pole.
4. Use the 6 mm hex key (10) to tighten the desk-clamp screw. (figure 3)

figure 3

the mounting surface that you're attaching the ARMPIVOTB to.
6. Slide the desk clamp over the edge of the desk or table.
7. Turn the knob clockwise to tighten the desk clamp. (figure 4)

figure 4

Desk clamp ———eg

10 to 88 mm

Instruction manual Sta rTeCh.Com

8 Hard-to-find made easy



Use the grommet mount to attach the ARMPIVOTB

Warning! Make sure that the weight of the monitor doesn’t exceed the weight capacity
of this product. This product can support the following weight: Up to 8 kg (17.6 Ib.).

Using the grommet mount to attach the ARMPIVOTB requires the assistance of a

second person.

1. Thread a Phillips screwdriver through the hole in the top of the desk clamp (3) and
unscrew the screw from the plate and rod.

2. Remove the rod from the bottom of the desk clamp. (figure 5)

Tip! Keep the screw, plate, and rod in a safe place so that you can use them again if you
want to switch back to the desk clamp mount.

figure 5 - .
9 o—— Phillips screwdriver

A.—-\

\‘/\ i Screw

Desk clamp———

3. Remove the backing from the five rubber pads (7) and affix them to the underside
of the grommet baseplate (5). (figure 6)

figure 6

Grommet baseplate ——e

Rubber pad
StarTechy.0m

9 Hard-to-find made easy

Instruction manual



4. Position the grommet baseplate over the grommet hole in the mounting surface,
and position the pole (2) over the grommet baseplate so that the projection on the
grommet baseplate fits into one of the two holes on the pole. (figure 7)

figure 7

Pole —— \

Projection

Grommet baseplate —ef

5. Thread the grommet plate (6) onto the rod.

6. While another person holds the pole and the grommet plate upright, on the
underside of the mounting surface, thread the rod up through the grommet hole
and into the pole.

7. Turn the knob clockwise to tighten the grommet mount. (figure 8)

figure 8
/__/

Grommet
plate

Rod

StarTechy.0m

Instruction manual
10 Hard-to-find made easy



Attach the monitor arm
1. Slide the cable-management clip (8) down the pole (2). (figure 9)

figure 9
gure \@00— Cable-management clip

e———Pole

__

2. Slide the monitor arm (1) down the pole.

3. When the monitor arm is at the required height, use the 5 mm hex key (9) to
tighten the screw in the side of the monitor arm. (figure 10)

figure 10
Monitor arm

5 mm hex key——a/j

StarTechy.0m

11 Hard-to-find made easy

Instruction manual



Attach a monitor to the monitor arm

Warning! Attaching a monitor is a two-person job. Do not attempt to complete this
task by yourself.

To accommodate different monitors, the VESA mount on the mounting arm features a
100x100 and a 75x75 mounting hole pattern.

Use the 100x100 VESA mounting hole pattern to attach a monitor

To accommodate different monitor sizes, the ARMPIVOTB comes with two sets of
screws that are different lengths and diameters.

To select the appropriate screws for the type of monitor that you're using, complete
the following:

« Determine the depth of the mounting holes on the monitor.
+ Determine the diameter of the mounting holes on the monitor.

1. Place two of the washers (13) over the top two mounting holes on the back of the
monitor.

2. Insert two of the M4x12 mm screws (11) or M5x12 mm screws (12) through the
washers and into the back of the monitor. (figure 17)

Caution! At this point in the assembly, do not tighten the screws so that they are
flush against the monitor. To attach the monitor to the monitor arm, the screws must
remain a little bit loose.

figure 11

Monitor ———|

M4x12 mm screw Washer

or
M5x12 mm screw

StarTechy.0m

12 Hard-to-find made easy

Instruction manual



3. Carefully hook the screws into the top two slots on the VESA monitor mount on the
monitor arm. (figure 12)

Caution! If the monitor arm starts to slip down the pole (2) when you add the weight

of the monitor, remove the monitor and use the 5 mm hex key (9) to tighten the screw

in the side of the monitor arm. When the screw is tightened, repeat step 3 to reattach

the monitor.

figure 12 M4x12 mm screw
Monitor———e or
M5x12 mm screw

VESA monitor mount

=
4. Use a Phillips screwdriver to tighten the screws. (figure 13)

Warning! Do not over-tighten the screws. If you encounter resistance while you're
tightening the screws, stop tightening. Failure to do so could result in damage to the

monitor.
X ¥

figure 13 .
Monitor arm

Monitor

=
Instruction manual

StarTechy.0m

13 Hard-to-find made easy



5. Place the other two washers over the mounting holes in the VESA monitor mount
on the monitor arm.

6. Insert the other two M4x12 mm screws or M5x12 mm screws through the washers,
the mounting holes in the VESA monitor mount, and into the back of the monitor.
(figure 14)

Warning! Do not over-tighten the screws. If you encounter resistance while you're

tightening the screws, stop tightening. Failure to do so could result in damage to the

monitor.

figure 14 Monitor

\/31%& X

Monitor arm LML

VESA monitor mount

Washer

M4x12 mm screw
or
M5x12 mm screw

StarTechy.0m

14 Hard-to-find made easy

Instruction manual



Use the 75x75 VESA mounting hole pattern to attach a monitor

To accommodate different monitor sizes, the ARMPIVOTB comes with two sets of
screws that are different lengths and diameters.

To select the appropriate screws for the type of monitor that you're using, complete
the following:

- Determine the depth of the mounting holes on the monitor.

« Determine the diameter of the mounting holes on the monitor.

1. Line up the mounting holes on the back of the monitor with the 75x75 mounting
holes in the VESA monitor mount on the monitor arm (1).

2. While someone holds the monitor in place, insert the M4x12 mm screws (11) or
M5x12 mm screws (12) through the washers (13), the mounting holes in the VESA
monitor mount, and into the back of the monitor. (figure 15)

Caution! If the monitor arm starts to slip down the pole (2) when you add the weight
of the monitor, remove the monitor and use the 5 mm hex key (9) to tighten the screw
in the side of the monitor arm. When the screw is tightened, repeat step 3 to reattach
the monitor.

3. Use a Phillips screwdriver to tighten the screws.

Warning! Do not over-tighten the screws. If you encounter resistance while you're
tightening the screws, stop tightening. Failure to do so could result in damage to the
monitor.

figure 15 \/ ;E' X&L #—
LT

Monitor——e

-

VESA monitor mount

Monitor arm

M4x12 mm screw Washer
or

— M5x12 mm screw
=

Instruction manual

StarTechy.0m

15 Hard-to-find made easy



Adjust the tilt angle of your monitor

1. To change the angle that the monitor is tilted at, use the 6 mm hex key (10) to turn
the screw in the side of the VESA monitor mount counterclockwise.

2. When the screw is loose, position the monitor at the angle that works best for you.
3. Use the 6 mm hex key to turn the screw clockwise to tighten it. (figure 16)

figure 16

VESA monitor mount

6 mm hex key———,

4. When you're done adjusting the tilt angle, you can store the 5 mm hex key (9) and
the 6 mm hex key in the hex key holder in the cable-management clip (8).
(figure 17)

figure 17

Hex key holder

StarTechy.0m

16 Hard-to-find made easy

Instruction manual



Organize your cables

You can use the cable-management clips on the ARMPIVOTB to organize your cables
and help to keep your work area free from cable clutter.

1. Position the cable from your monitor in the hooks in the cable-management clips
along the monitor arm (1).

2. Run the cable down the pole (2) and through the cable-management clip (8).
(figure 18)

figure 18

Cable-management clips

Monitor arm———

|
Pole— & (

Dé e———Cable-management clip

Instruction manual StafTeCI".Com

17 Hard-to-find made easy



Technical support

StarTech.com’s lifetime technical support is an integral part of our commitment to
provide industry-leading solutions. If you ever need help with your product, visit
www.startech.com/support and access our comprehensive selection of online tools,
documentation, and downloads.

For the latest drivers/software, please visit www.startech.com/downloads

Warranty information
This product is backed by a five-year warranty.

StarTech.com warrants its products against defects in materials and workmanship
for the periods noted, following the initial date of purchase. During this period,
the products may be returned for repair, or replacement with equivalent
products at our discretion. The warranty covers parts and labor costs only.
StarTech.com does not warrant its products from defects or damages arising from
misuse, abuse, alteration, or normal wear and tear.

Limitation of liability

In no event shall the liability of StarTech.com Ltd. and StarTech.com USA LLP (or their
officers, directors, employees or agents) for any damages (whether direct or indirect,
special, punitive, incidental, consequential, or otherwise), loss of profits, loss of business,
or any pecuniary loss, arising out of or related to the use of the product exceed the
actual price paid for the product. Some states do not allow the exclusion or limitation
of incidental or consequential damages. If such laws apply, the limitations or exclusions
contained in this statement may not apply to you.

StarTechy.0m

18 Hard-to-find made easy

Instruction manual



StarTechg:om

Hard-to-find made easy®

Hard-to-find made easy. At StarTech.com, that isn’t a slogan. It's a promise.

StarTech.com is your one-stop source for every connectivity part you need. From
the latest technology to legacy products — and all the parts that bridge the old and
new — we can help you find the parts that connect your solutions.

We make it easy to locate the parts, and we quickly deliver them wherever they need
to go. Just talk to one of our tech advisors or visit our website. You'll be connected to
the products you need in no time.

Visit www.startech.com for complete information on all StarTech.com products and
to access exclusive resources and time-saving tools.

StarTech.com is an I1SO 9001 Registered manufacturer of connectivity and technology
parts. StarTech.com was founded in 1985 and has operations in the United States,
Canada, the United Kingdom and Taiwan servicing a worldwide market.



